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Problem C 
Dessert Café 

Time Limit: 1 Second 
 

 
Kim, who wishes to start a business, is trying to open a dessert cafe he has been preparing after graduating from 

college. The road network in the town where Kim lives forms a tree structure, that is, a connected acyclic graph 

as shown in the figure below. There are 𝑛 candidate sites for a dessert café in the town. In the figure below, a 

circle represents a candidate site for a dessert café, a line segment between two candidate sites represents a road, 
and the value labeled on a line segment represents the length of a road. 

 

 
 

There are 𝑘 apartment complexes in this town, so he wants his dessert café to be located as close as possible to 
an apartment complex. In above figure, there are three apartment complexes which are located to the candidate 

sites labeled by A, B, and C. Considering the competitiveness and profitability, he thinks that a candidate site 

satisfying the following condition is a good place. 
 

Let 𝑑(𝑥, 𝑦) be the length of the shortest path on a road network between two candidate sites 𝑥  and 𝑦. A 

candidate site 𝑝 is a good place if there exists a candidate site 𝑧 where an apartment complex is located such 

that 𝑑(𝑝, 𝑧) < 𝑑(𝑞, 𝑧) for each candidate site 𝑞 (≠ 𝑝).   
 

In above figure, candidate sites 2, 4, 5, 6, 8, and 9 are good places. More specifically, for example, candidate 

6 is a good place because it is closer to apartment complex B than any other candidate sites except for candidate 

5, and is closer to apartment complex A than candidate 5. That is, there exists apartment complex B on candidate 

5 satisfying 𝑑(6, 5) < 𝑑(𝑞, 5) for 𝑞 ∈ {1, 2, 3, 4, 7, 8, 9}, and there exists apartment complex A on candidate 2 

satisfying 𝑑(6, 2) < 𝑑(5, 2). Candidate 7 is not a good place because none of apartment complexes are closer 

than candidate 6. 
 

Given the information on candidate sites and apartment complexes in the town, write a program to output the 

number of good places. 
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Input 

Your program is to read from standard input. The input starts with a line containing two integers, 𝑛 and 𝑘 (3 ≤
𝑛 ≤ 100,000 , 1 ≤ 𝑘 ≤ 𝑛 ), where 𝑛  is the number of candidate sites and 𝑘  is the number of apartment 

complexes. The candidate sites are numbered from 1 to 𝑛. In the following 𝑛 − 1 lines, each line contains three 

integers, 𝑖, 𝑗, and 𝑤 (1 ≤ 𝑖, 𝑗 ≤ 𝑛, 1 ≤ 𝑤 ≤ 1,000), where 𝑖 and 𝑗 are candidate sites and 𝑤 is the length of the 

road between 𝑖 and 𝑗. The last line contains 𝑘 integers which represent the locations of apartment complexes in 
the town. 

 

 
Output 
Your program is to write to standard output. Print exactly one line. The line should contain the number of good 

places. 

 

 
The following shows sample input and output for two test cases. 

 

Sample Input 1 Output for the Sample Input 1 
9 3 

1 2 8 

2 4 7 

4 3 6 

4 6 4 

5 6 3 

6 7 2 

6 9 5 

9 8 6 

2 5 8 

6 

 
Sample Input 2 Output for the Sample Input 2 
4 4 

1 2 1 

1 3 1 

1 4 1 

2 4 1 3 

4 

 


